HOLDER TYPE INEQUALITY FOR NEW CONFORMABLE FRACTIONAL INTEGRAL AND SOME RELATED RESULTS

by

Zheng-Rong XIANG^a and Qi-Qi WU^{b*}

^a School of Physics and Information Engineering, Guangxi Science and Technology Normal University, Laibin, China ^b School of Automation, Guangxi University of Science and Technology, Liuzhou, China

> Original scientific paper https://doi.org/10.2298/TSCI2502455X

The paper is concerned with the investigation of Holder's inequality. Firstly, we establish a new Holder's type inequality by using new conformable fractional integral which was introduced by Kajouni et al. [1]. Secondly, we give a reverse conformable fractional integral Holder's type inequality. Finally, we obtain some results related with conformable fractional integral Holder's type inequality. Key words: fractional integral Holder's inequality, reverse inequality fractional integral Minkowski's inequality

Introduction

Assume that $\Pi_1(\ell)$, $\Pi_2(\ell)$ are continuous functions whose domain of definition is the interval $[\hbar_1, \hbar_2]$. Let $\xi, \beta \in \mathbb{R}$ satisfy the equation $1/\xi + 1/\beta = 1$, where $\xi > 1$. Then the integral form corresponding to the well-known inequality, established by Holder, can be expressed:

$$\int_{\hbar_1}^{\hbar_2} \left| \Pi_1(\ell) \Pi_2(\ell) \right| d\ell \leq \left(\int_{\hbar_1}^{\hbar_2} \left| \Pi_1(\ell) \right|^{\xi} d\ell \right)^{1/\xi} \left(\int_{\hbar_1}^{\hbar_2} \left| \Pi_2(\ell) \right|^{\beta} d\ell \right)^{1/\beta}$$

which can be found in [2, 3].

It needs to be pointed out that Hölder's inequality has important applications in dealing with some problems originated from modern pure mathematics. As a consequence, it has captivated many researchers to investigate extensively. For more detail, the reader is referred to [4-7]. Some reverse Holder's inequalities can also be found in [5-7].

As is well known, fractional calculus, different from traditional calculus, is among the most appropriate tools for investigating electromagnetism, speech signals, fluid mechanics, and so on. For more detail, we refer the readers to [8-12].

Recently, the authors in [13] applied the limit definition of the derivative to establish a new fractional derivative, which is called the conformable fractional derivative. The definition of the conformable fractional integral also was given in [13].

Very recently, Kajouni et al. [1] defined a new conformable fractional integral as follows.

Definition 1. Let $\alpha \in (0, 1)$ and $a \ge 0$, let \hbar be a function defined on (a, t]. Then, the α -fractional integral of \hbar is defined:

^{*}Corresponding author, e-mail: 100000327@gxust.edu.cn

$$I_{\alpha}^{a}(\hbar)(t) = \int_{a}^{t} e^{(1-\alpha)\rho} \hbar(\rho) d\rho$$

which is different from the definition of [1].

The primary goal of this research is to establish a new conformable fractional integral Hölder's inequality, some related results also are obtained.

Main results

In this section, we shall state and prove the main results.

Theorem 1. (Holder's inequality) Let $\hbar_1(\rho)$ and $\hbar_2(\rho)$ be α -conformable fractional integrable and non-negative on (a, t), $0 < \alpha < 1$ and $1/\lambda_1 + 1/\lambda_2 = 1$ with $\lambda_1 > 1$. Then one has:

$$I_{\alpha}^{a}(\hbar_{1}\hbar_{2})(t) = \int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}(\rho) \hbar_{2}(\rho) d\rho \leq \\ \leq \left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho\right)^{1/\lambda_{1}} \left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho\right)^{1/\lambda_{2}} = \\ = \left(I_{\alpha}^{a}(\hbar_{1}^{\lambda_{1}})(t)\right)^{1/\lambda_{1}} \left(I_{\alpha}^{a}(\hbar_{2}^{\lambda_{2}})(t)\right)^{1/\lambda_{2}}$$
(1)

Proof. It is assumed, without any loss of generality, that:

$$\left(\int_{a}^{t} \mathrm{e}^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) \mathrm{d}\rho\right)^{1/\lambda_{1}} \left(\int_{a}^{t} \mathrm{e}^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) \mathrm{d}\rho\right)^{1/\lambda_{2}} \neq 0$$

and taking

$$\Pi_{1} = \frac{\hbar_{1}^{\lambda_{1}}(\rho)}{\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho}, \quad \Pi_{2} = \frac{\hbar_{2}^{\lambda_{2}}(\rho)}{\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho}$$

In the light of the Young inequality in [14], it is easy to conclude: $\frac{\hbar}{2} \left(2 \right)$

$$\int_{a}^{b} e^{(1-\alpha)\rho} \frac{\hbar_{1}(\rho)}{\left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho\right)^{1/\lambda_{1}}} \frac{\hbar_{2}(\rho)}{\left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho\right)^{1/\lambda_{2}}} d\rho =$$

$$= \int_{a}^{t} e^{(1-\alpha)\rho} \prod_{1}^{1/\lambda_{1}} \prod_{2}^{1/\lambda_{2}} d\rho \leq$$

$$\leq \int_{a}^{t} e^{(1-\alpha)\rho} \left(\frac{\prod_{1}}{\lambda_{1}} + \frac{\prod_{2}}{\lambda_{2}}\right) d\rho =$$

$$= \frac{1}{\lambda_{1}} \int_{a}^{t} e^{(1-\alpha)\rho} \frac{\hbar_{1}^{\lambda_{1}}(\rho)}{\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho} d\rho +$$

$$+ \frac{1}{\lambda_{2}} \int_{a}^{t} e^{(1-\alpha)\rho} \frac{\hbar_{2}^{\lambda_{2}}(\rho)}{\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho} d\rho = 1$$

Theorem 2. (Reverse Holder's inequality) Let $\hbar_1(\rho)$ and $\hbar_2(\rho)$ be α -conformable fractional integrable and non-negative on (a, t), $0 < \alpha < 1$ and $1/\lambda_1 + 1/\lambda_2 = 1$ with $0 < \lambda_1 < 1$. Then one has:

$$I_{\alpha}^{a}(\hbar_{1}\hbar_{2})(t) = \int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}(\rho) h_{2}(\rho) d\rho \geq \\ \geq \left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho\right)^{1/\lambda_{1}} \left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho\right)^{1/\lambda_{2}} = \\ = \left(I_{\alpha}^{a}(\hbar_{1}^{\lambda_{1}})(t)\right)^{1/\lambda_{1}} \left(I_{\alpha}^{a}(\hbar_{2}^{\lambda_{2}})(t)\right)^{1/\lambda_{2}}$$
(2)

Proof. It is supposed, without any loss of generality, that:

$$\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho \int_{a}^{1/\lambda_{1}} \left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho \right)^{1/\lambda_{2}} \neq 0$$

and set

$$\Theta_{1} = \frac{\hbar_{1}^{\lambda_{1}}(\rho)}{\int\limits_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho}, \quad \Theta_{2} = \frac{\hbar_{2}^{\lambda_{2}}(\rho)}{\int\limits_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho}$$

Based on the reverseYoung inequality in [14], it is not difficult to yield:

$$\int_{a}^{t} e^{(1-\alpha)\rho} \frac{\hbar_{1}(\rho)}{\left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho\right)^{1/\lambda_{1}}} \frac{\hbar_{2}(\rho)}{\left(\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho\right)^{1/\lambda_{2}}} d\rho =$$

$$= \int_{a}^{t} e^{(1-\alpha)\rho} \Theta_{1}^{1/\lambda_{1}} \Theta_{2}^{1/\lambda_{2}} d\rho \ge$$

$$\ge \int_{a}^{t} e^{(1-\alpha)\rho} (\Theta_{1} / \lambda_{1} + \Theta_{2} / \lambda_{2}) d\rho =$$

$$= \frac{1}{\lambda_{1}} \int_{a}^{t} e^{(1-\alpha)\rho} \frac{\hbar_{1}^{\lambda_{1}}(\rho)}{\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda_{1}}(\rho) d\rho} d\rho +$$

$$+ \frac{1}{\lambda_{2}} \int_{a}^{t} e^{(1-\alpha)\rho} \frac{\hbar_{2}^{\lambda_{2}}(\rho)}{\int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda_{2}}(\rho) d\rho} d\rho = 1$$

On the basis of *Theorems 1* and 2, we can obtain the following generalizations.

Corollary 1. Let $\hbar_l(\rho)$ be α -conformable fractional integrable and non-negativeon $(a, t), 0 < \alpha < 1$ and $\lambda_l \in R, l = 1, 2, ..., m, 1/\lambda_1 + 1/\lambda_2 + \dots + 1/\lambda_m = 1$. Then:

- For $\lambda_l > 1$, one has:

$$I_{\alpha}^{a}\left(\prod_{l=1}^{m}\hbar_{l}\right)(t) \leq \prod_{l=1}^{m}\left(I_{\alpha}^{a}(\hbar_{l}^{\lambda_{l}})(t)\right)^{1/\lambda_{l}}$$
(3)

- For $\lambda_l \in (0, l)$ and $\lambda_l < 0, l = 2, ..., m$, one has:

$$I_{\alpha}^{a}\left(\prod_{l=1}^{m}\hbar_{l}\right)(t) \geq \prod_{l=1}^{m}\left(I_{\alpha}^{a}(\hbar_{l}^{\lambda_{l}})(t)\right)^{1/\lambda_{l}}$$

$$\tag{4}$$

Theorem 3. (Minkowski's inequality) If $\hbar_1(\rho)$ and $\hbar_2(\rho)$ are α -conformable fractional integrable and non-negative on (a, t), $0 \le \alpha \le 1$ and $\lambda_1 \ge 1$. Then one has:

$$\left(I_{\alpha}^{a} ((\hbar_{1} + \hbar_{2})^{\lambda})(t) \right)^{1/\lambda} = \left(\int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda} d\rho \right)^{\lambda} \leq$$

$$\leq \left(I_{\alpha}^{a} (\hbar_{1}^{\lambda})(t) \right)^{1/\lambda} + \left(I_{\alpha}^{a} (\hbar_{2}^{\lambda})(t) \right)^{1/\lambda}$$

$$(5)$$

Proof. By direct computation, we have:

$$I_{\alpha}^{a}((\hbar_{1}+\hbar_{2})^{\lambda})(t) = \int_{a}^{t} e^{(1-\alpha)\rho} \left((\hbar_{1}(\rho)+\hbar_{2}(\rho))(\hbar_{1}(\rho)+\hbar_{2}(\rho))^{\lambda-1} \right) d\rho =$$
$$= \int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{1}(\rho)(\hbar_{1}(\rho)+\hbar_{2}(\rho))^{\lambda-1} \right) d\rho + \int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{2}(\rho)(\hbar_{1}(\rho)+\hbar_{2}(\rho))^{\lambda-1} \right) d\rho$$

Thanks to the previous equation and *Theorem 1*, we have:

$$\int_{a}^{b} e^{(1-\alpha)\rho} \left(\hbar_{1}(\rho)(\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda-1}\right) d\rho + \int_{a}^{b} e^{(1-\alpha)\rho} \left(\hbar_{2}(\rho)(\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda-1}\right) d\rho \leq \\ \leq \left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{1}^{\lambda}(\rho)\right) d\rho\right)^{1/\lambda} \left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{1}(\rho) + \hbar_{2}(\rho)\right)^{(\lambda-1)q} d\rho\right)^{1/q} + \\ + \left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{2}^{\lambda}(\rho)\right) d\rho\right)^{1/\lambda} \left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{1}(\rho) + \hbar_{2}(\rho)\right)^{(\lambda-1)q} d\rho\right)^{1/q} = \\ = \left[\left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{1}^{\lambda}(\rho)\right) d\rho\right)^{1/\lambda} + \left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{2}^{\lambda}(\rho)\right) d\rho\right)^{1/\lambda}\right] \cdot \\ \cdot \left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\hbar_{1}(\rho) + \hbar_{2}(\rho)\right)^{(\lambda-1)q} d\rho\right)^{1/q} \right]^{1/q}$$

So, it can be derived that:

$$\left(\int_{a}^{t} \mathrm{e}^{(1-\alpha)\rho} \left(\hbar_{1}(\rho) + \hbar_{2}(\rho)\right)^{(\lambda-1)q} \mathrm{d}\rho\right)^{1-1/q} \leq \left(\int_{a}^{t} \mathrm{e}^{(1-\alpha)\rho} \left(\hbar_{1}^{\lambda}(\rho)\right) \mathrm{d}\rho\right)^{1/\lambda} + \left(\int_{a}^{t} \mathrm{e}^{(1-\alpha)\rho} \left(\hbar_{2}^{\lambda}(\rho)\right) \mathrm{d}\rho\right)^{1/\lambda}$$

Since $1/\lambda + 1/q = 1$, we have the conclusion presented in *Theorem 3*.

Theorem 4. (reverse Minkowski's inequality) If $\hbar_1(\rho)$ and $\hbar_2(\rho)$ are α -conformable fractional integrable and non-negative on (a, t), $0 \le \alpha \le 1$, and $0 \le \lambda \le 1$, then one has:

$$\left(I_{\alpha}^{a} ((\hbar_{1} + \hbar_{2})^{\lambda})(t) \right)^{1/\lambda} = \left(\int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda} ds \right)^{\lambda} \ge$$

$$\ge \left(I_{\alpha}^{a} (\hbar_{1}^{\lambda})(t) \right)^{1/\lambda} + \left(I_{\alpha}^{a} (\hbar_{2}^{\lambda})(t) \right)^{1/\lambda}$$

$$(6)$$

Proof. Let $0 < \lambda < 1$

$$\frac{1}{\gamma} = \lambda, \ \frac{1}{\lambda} = 1 - \lambda, \ a_k = \mu_k^{\lambda}, \ b_k = \nu_k^{1/\lambda - 1}$$

with the help of the discrete Holder's inequality:

$$\sum_{k=1}^{n} a_k b_k \le \left(\sum_{k=1}^{n} a_k^{\gamma}\right)^{1/\gamma} \left(\sum_{k=1}^{n} b_k^{\lambda}\right)^{1/\lambda}, \ \gamma > 1 \ \frac{1}{\gamma} + \frac{1}{\lambda} = 1$$

we can derive that:

$$\sum_{k=1}^{n} \mu_k^{\lambda} v_k^{1/\lambda-1} \le \left(\sum_{k=1}^{n} \mu_k\right)^{\lambda} \left(\sum_{k=1}^{n} v_k^{1/\lambda}\right)^{1-\lambda}$$
(7)

The expressions of Φ_1 , Φ_2 , and *M* can be defined:

$$\mathcal{\Phi}_{1} = \int_{a}^{i} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda}(\rho) d\rho, \quad \mathcal{\Phi}_{2} = a \int_{a}^{i} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda}(\rho) d\rho$$
$$M = \left(\int_{a}^{i} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda}(\rho) d\rho\right)^{1/\lambda} + \left(\int_{a}^{i} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda}(\rho) d\rho\right)^{1/\lambda} = \mathcal{\Phi}_{1}^{1/\lambda} + \mathcal{\Phi}_{2}^{1/\lambda}$$

According to eq. (7), one has the result:

$$M = \Phi_{1}^{1/\lambda} + \Phi_{2}^{1/\lambda} =$$

$$= \Phi_{1}^{1/\lambda-1} \int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{1}^{\lambda}(\rho) d\rho + \Phi_{2}^{1/\lambda-1} \int_{a}^{t} e^{(1-\alpha)\rho} \hbar_{2}^{\lambda}(\rho) d\rho =$$

$$= \int_{a}^{t} e^{(1-\alpha)\rho} \left[\hbar_{1}^{\lambda}(\rho) \Phi_{1}^{1/\lambda-1} + \hbar_{2}^{\lambda}(\rho) \Phi_{2}^{1/\lambda-1} \right] d\rho \leq$$

$$\leq \int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda} (\Phi_{1}^{1/\lambda} + \Phi_{2}^{1/\lambda})^{1-\lambda} d\rho =$$

$$= \int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda} M^{1-\lambda} d\rho =$$

$$= M^{1-\lambda} \int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{1}(\rho) + \hbar_{2}(\rho))^{\lambda} d\rho$$

Next, we give some generalizations of *Theorems 3 and 4* as follows.

Corollary 2. Let $\hbar_l(\rho)$ be α -conformable fractional integrable and non-negative on $(a, t), 0 \le \alpha \le 1, l = 1, 2, ..., k$. Then:

- For
$$\lambda > 1$$
, one has:

$$\left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\sum_{l=1}^{k} \hbar_{l}(\rho)\right)^{\lambda} d\rho\right)^{1/\lambda} \leq \sum_{l=1}^{k} \left(\int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{l}(\rho))^{\lambda} d\rho\right)^{1/\lambda}$$
(8)

- For $0 < \lambda < 1$, one has:

$$\left(\int_{a}^{t} e^{(1-\alpha)\rho} \left(\sum_{l=1}^{k} \hbar_{l}(\rho)\right)^{\lambda} d\rho\right)^{1/\lambda} \ge \sum_{l=1}^{k} \left(\int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{l}(\rho))^{\lambda} d\rho\right)^{1/\lambda}$$
(9)

From Corollary 2, one has the following concl usions.

Corollary 3. Let $\hbar_l(s)$ be α -conformable fractional integrable and non-negative on $(a, t), 0 < \alpha < 1, l = 1, 2, ..., k$. Then:

- For $\lambda > 1$, one has:

$$\int_{a}^{t} e^{(1-\alpha)\rho} \left(\sum_{l=1}^{k} \hbar_{l}(\rho) \right)^{\lambda} d\rho \geq \sum_{l=1}^{k} \int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{l}(\rho))^{\lambda} d\rho$$
(10)

- For $0 < \lambda < 1$, one has:

$$\int_{a}^{t} e^{(1-\alpha)\rho} \left(\sum_{l=1}^{k} \hbar_{l}(\rho) \right)^{\lambda} d\rho \leq \sum_{l=1}^{k} \int_{a}^{t} e^{(1-\alpha)\rho} (\hbar_{l}(\rho))^{\lambda} d\rho$$
(11)

Proof. (1) Assume that $\lambda > 1$, by taking $s = \lambda$, r = 1 in Jensen's inequality:

$$\hbar_1 + \hbar_2 + \dots + \hbar_k \ge \left(\hbar_1^{\lambda} + \hbar_2^{\lambda} + \dots + \hbar_k^{\lambda}\right)^{1/\lambda}$$

obviously, the inequality

$$\left(\hbar_1 + \hbar_2 + \dots + \hbar_k\right)^{\lambda} \ge \hbar_1^{\lambda} + \hbar_2^{\lambda} + \dots + \hbar_k^{\lambda}$$

holds, by integration, the desired result can be derived.

Proof. (2) Suppose that $0 < \lambda < 1$, by taking $s = \lambda$, r = 1 in Jensen's inequality, we can deduce:

$$\hbar_1 + \hbar_2 + \dots + \hbar_k \leq \left(\hbar_1^{\lambda} + \hbar_2^{\lambda} + \dots + \hbar_k^{\lambda}\right)^{1/\lambda}$$

with the help of the aforementioned inequality, it can be concluded that:

$$\left(\hbar_1 + \hbar_2 + \dots + \hbar_k\right)^{\lambda} \le \hbar_1^{\lambda} + \hbar_2^{\lambda} + \dots + \hbar_k^{\lambda}$$

according to the integration of the previous inequality, it follows that the desired result is obtained.

Conclusion

In this paper the classical integral Holder's inequality has been generalized to the conformable fractional integral Holder's inequality. This generalization has been obtained using Young inequality. The reverse conformable fractional integral Holder's inequality also has been given. Further, we have established the conformable fractional integral Holder's inequality involving multiple functions and its reverse versions, some related results have been obtained.

Acknowledgment

This work is supported by the Project for Enhancing the Scientific Research Basic Capabilities of Young and Middle-Aged Teachers in Guangxi's Higher Education Institutions in 2025: Research on the Hardware-in-the-Loop Simulation of VTOL UAV (2025KY0894).

References

 Kajouni, A., et al., A New Conformable Fractional Derivative and Applications, International Journal of Differential Equations, 2021 (2021), 2, ID6245435 Xiang, Z.-R., *et al.*: Holder Type Inequality for New Conformable Fractional ... THERMAL SCIENCE: Year 2025, Vol. 29, No. 2B, pp. 1455-1461

- 1461
- [2] Beckenbach, E. F., et al., Inequalities, Springer-Verlag, Berlin, Germany, 1961
- [3] Hardy, G. H., et al., Inequalities, Cambridge University Press, Cambridge, UK, 1952
- [4] Nikolova, L., et al., Some New Refinements of the Young, Holder, and Minkowski Inequalities, *Journal of Inequalities and Applications*, 2023 (2023), 1, pp. 1-15
- [5] Didenko, V. D., *et al.*, Power Means and the Reverse Holder Inequality, *Studia Mathematica*, 207 (2011), 1, pp. 85-95
- [6] Berndt, R., The Weighted Fourier Inequality, Polarity, and Reverse Hölder Inequality, Journal of Fourier Analysis and Applications, 24 (2018), 2, pp. 1518-1538
- [7] Chen, G. S., et al., The Diamond Integral Reverse Hölder Inequality and Related Results on Time, Advances in Difference Equations, 2015 (2015), 2, pp. 1-20
- [8] Dalir, M., et al., Applications of Fractional Calculus, Applied Mathematical Sciences, 4 (2010), 2, pp. 1021-1032
- [9] Tarasov, V. E., Electromagnetic Fields on Fractals, Modern Physics Letters A, 21 (2006), 20, pp. 1587-1600
- [10] Tarasov, V. E., Fractional Vector Calculus and Fractional Maxwells Equations, Annals of Physics, 323 (2008), 11, pp. 2756–2778
- [11] Chen, G. S., et al., Local Fractional Integral Hölder-Type Inequalities and Some Related Results, Fractal and Fractional, 6 (2022), 4, pp. 1-16
- [12] Luo, C., et al., An Improvement of Holder Integral Inequality on Fractal Sets and Some Related Simpson-Like Inequalities, Fractals, 29 (2021), ID2150126
- [13] Khalil, R., et al., A New Definition of Fractional Derivative, Journal of Computational and Applied Mathematics, 264 (2014), 2, pp. 65-70
- [14] Xing, J., et al., The Applications of Young Inequality and Young Inverse Inequality, Journal of Zhoukou Normal University, 24 (2007), 2, pp. 37-39